° p+qg=8 Use this information to find expressions that would give
these values.

a) 16=_2p+2q_ e) 0.8=_nlp*a)

x+y=10

b) 32=Lotla. f) 10=

Use this to work out the value of each expression.

a) 2x+2y=| 90 e) %x+%y= 5 ) 4=—"Lw33* 9) 1=—PJ417£

b) 3x+3y=| 30 ) x+y+7=| 17

d) 800 = 0olor

¢ 5y+5x=| 50 g) x+3+y=| |3

d)%(x+y)= S h) 2x+2y-11= 9 n-m=

a) Which is the greater number, n or m? _ (1

Explain your answer.
I know that a + b = 7, piain g

so2a+b=14

When o LS sulobrocked grom N twe oanswes
LS M’Huc . n-Mm?20 S NoOMm
I don’t think you can work )
out what 2a + b is.
b) What is the value of m - n? -3

¢) Explain why m + 7 = n.

Who is correct? Tormn:\)

Explain your answer.

+db = ; m_e‘muumu SO 0 s T move Yan m
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Use this information to find expressions that are equivalent to the

following.

a) 2c =

b) 3c = _%«

c¢) 10c =

d)

e) c-4=

f) c+5=

a) Find two expressions that will give an answer of 50

10X¥ou = 50

b) Find two expressions that will give an answer of 5

xX+34 =5

c=d+4

2x+y =10

¢) All of these expressions equal 1

Work out the missing values.

2x + Y

2+ y -

X +

a+b=c+d

a, b, c and d are all numbers greater than zero.

Decide whether each statement is always true, could be true or is
never true.

Tick the correct answer.

Statement Always true | Could be true Never true
a=c
2a+b=2c+d

a=c+d->

For any statement that you have said could be true, discuss with a partner
when this would be the case.

If % = 5, circle the correct statements.

n_3=2 n=10 %=1O 2n =10

What are the correct answers for the statements that you have not circled?

O O
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